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Time Allowed : 1,30 Hours| MATHEMATlcs : [Max. Marks : 50
I.  Choose the correct Answer. 5x1=5
1. (a-b)=3 and ab = 5then a’>- b*= ~-cemmme-
a) 15 by 18 c) 62 dy 72
2. One factor of x> + y* is
a) (xy) b)  (x+y) c)  (xy) ) (eyp
3. What sum of money will earn Rs 500 as simple internet in 1 year at 5% Per annum?
a) 50000 b) 30000 c) 10000 d) 5000
4. If 5 Persons cando 5 jobs in 5 days, then 50 persons can do 50 jobs in how many days?
a) 5 b) 6 CINT d 8
5. The largest number of the three consecutive number is x+1, then the smallest number is
a) x b) x+1 c) x+2 d x1
Il.  Fillin the blanks: 5x1=5

B a+b? = (a+b)?* - e —

7. The value of y in the equation y -8 = (-5) +7 i§ —=--—m ._
8.  The solution of the equation ax+b=0 i§ =—==mm--—
9

A alone can do a piece of work in 35 days. If B is 40% more efficient than A, then B will finish
the work in -—----=aau- days.

10. Aside is (x+1) cm then volume of the cube is ———--

ill. Match the following. 5x1=5
¥ %10 - x=4
2
12. 20=6x-4 - X=
13. 2x-5=3-x - x=20
14, 7x-4-8x=20 - x=B/
LA .
11 . 11
a) (i), (i), Giv), (iii), (v) b) (i), (i), (i), (ii). (v)
c) (i), (i), (iv), (v), (i) c) (i), (i), (v, (iv), (ii)
IV. Answer any ten of the following: 10x2=20

16. Find the value of (3a+4c)? by using (a+b)?identity.
17. Find the Value of (98)* V/8/Mat/}
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Faclorise Ox? Gx - Y

Factorisa: 40X - Gdy?

Find thevalue of x 1 — - 4 ° :
\.?I :

Solve: 2x +H = 9

and A along can da it in Al diays Fow long

A and B together can do a place of work In 10 clayn

'
will B-take to complete the work?

e : - ‘ I ; § (e3¢ |”'-;”1;.]I1Hfl IJ‘/ ;’“"{5: then
It the number of Fraction is increased by 0% and the Danominato

it becomes 3. find the original Fraction?

How many outcomes can you got when you Toss three coins once?
Find the HCF of the Following 455 and 26.

Faclorise: 16P*-1

7 is added to a given number to give 19 (Convert the Statement into linear Equation)

Answer any 2 questions. 2x6=10

Faclorise: y*- 18y? +108y - 216
The length of a Rectangular field exceeds its breadth by 9 meters, If the Perimeter of tha field

is 154m. Find the Length and Breadth of the Field.

Ais Thrice as Fasl as B. If B can do a Piece of work in 24 Day then find the number of days
they will take to complete the work together.

A can do a work in 45 days. He works at if for 15 days and then, B alone finishes the remaining
work in 24 days. Find the time taken to complete 80% of the work, if they work together.

Answer any 1 Question 1x5=5

Construct a Parallelogram BIRD with Bl = 6.5 ¢cm, IR = 5cm and Z BIR = 70° also find its

Area.
Construct a Rhombus ROSE with RO = 5cm and RS = 8cm. Also find ils Area.

V/B/Mat/2
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